# Nevada Division of Health care Financing and Policy Nursing Facility Rates - July 2016

## **Table of Contents**

FEE SCHEDULE FOR NF BEHAVIORALLY COMPLEX RATE	. 1
IN STATE FREE STANDING NF RATES SCHEDULE	. 2
OUT OF STATE (OSS) NURSING FACILITY JANUARY 1 RATE	. 3
JULY 1 CONSOLIDATION	. 4
JCASE MIX WORKSHEET	5

Nevada Division of Health Care Financing and Policy In-State Nursing Facility Behaviorally Complex Rates

Effective: July 1, 2016						
Tier I.	\$111.23					
Tier II.	\$222.45					
Tier III.	\$326.26					

State Plan Attachment 4.19-D, Page 9, E. Special Care Rates

#### Facility Medicaid Rate Effective July 1, 2016

In-State Nursing Facility Name	NF Standard Per Diem	Equivalent Daily Rate*	Quarterly Supplemental	NF Ventilator Dependent	Pediatric Specialty Care I	Pediatric Specialty Care II	
LIFE CARE CENTER OF PARADISE VALLEY		195.82	Payment 138,632.13	516.53	0.00	0.00	
	111.08						
MISSION PINES NURSING & REHAB	113.86	225.31	1,431,844.41	513.82	0.00	0.00	
SILVER RIDGE HEALTH CARE CENTER	123.79	216.67	705,421.37	517.44	0.00	0.00	
CLEARVIEW HEALTH AND REHABILITATION (fka Henderson Healthcare)	116.71	213.26	1,750,614.36	512.92	0.00	0.00	
COLLEGE PARK REHABILITATION CENTER	125.45	221.30	540,984.47	514.13	0.00	0.00	
HIGHLAND MANOR MESQUITE	108.34	201.61	369,540.37	516.99	0.00	0.00	
TLC CARE CENTER	116.66	199.34	958,352.81	517.85	635.00	695.00	
ROYAL SPRINGS HEALTH CARE & REHAB INC.	122.28	218.43	1,450,554.39	516.99	0.00	0.00	
NORTH LAS VEGAS CARE CENTER	113.40	205.37	1,216,965.96	509.37	0.00	0.00	
MOUNTAIN VIEW CARE CENTER AT BOULDER CITY	110.88	212.07	617,952.72	507.05	0.00	0.00	
SILVER HILLS HEALTH CARE CENTER	116.35	201.79	416,004.06	518.79	0.00	0.00	
SAINT JOSEPH HEALTH CARE CENTER	120.20	206.70	436,068.85	507.63	0.00	0.00	
MARQUIS CARE PLAZA REGENCY	124.47	222.48	1,129,096.20	517.44	0.00	0.00	
DELMAR GARDENS OF GREEN VALLEY	111.07	201.02	1,187,960.74	515.18	0.00	0.00	
GAYE HAVEN	103.25	229.62	195,487.72	507.05	0.00	0.00	
LIFE CARE CENTER OF LAS VEGAS	119.00	211.36	975,969.36	522.23	0.00	0.00	
TORREY PINES CARE CENTER	119.65	208.69	406,196.03	517.03	0.00	0.00	
HORIZON HEALTH & REHABILITATION (Desert Lane Care Ctr.)	119.00	191.79	240,614.47	514.40	0.00	0.00	
EL JEN MEDICAL HOSPITAL	113.20	191.79	668,883.12	509.76	0.00	0.00	
LAS VEGAS HEALTHCARE & REHAB CENTER	113.20	200.42	260,080.23	510.82	635.00	695.00	
			,				
SOUTHERN NEVADA MEDICAL & REHAB	123.04	214.19	179,554.23	510.66	0.00	0.00	
HIGHLAND MANOR ELKO	113.23	199.71	433,852.68	517.89	0.00	0.00	
PAHRUMP HEALTH AND REHABILITATION CENTER	116.40	225.92	385,742.02	517.44	0.00	0.00	
ORMBSY POST ACUTE REHABILITATION	114.62	196.10	387,279.41	517.44	0.00	0.00	
MOUNTAIN VIEW HEALTH AND REHABILITATION	112.07	211.60	1,049,287.88	509.31	0.00	0.00	
CARSON NURSING AND REHABILITATION CENTER	107.68	189.92	196,715.06	507.05	0.00	0.00	
HEARTHSTONE OF NORTHERN NEVADA	120.26	205.16	479,061.02	512.47	0.00	0.00	
LIFE CARE CENTER OF RENO	118.73	199.21	147,761.69	514.40	0.00	0.00	
REGENT CARE CENTER OF RENO	113.06	196.89	601,094.04	519.50	0.00	0.00	
LKM - ROSEWOOD REHABILITATION	119.85	220.29	308,939.66	508.18	0.00	0.00	
RENOWN SKILLED NURSING	116.76	204.93	353,991.73	507.40	0.00	0.00	
MANOR CARE HEALTH SERVICES (Reno)	111.30	191.96	486,018.48	513.37	0.00	0.00	
WHITE PINE CARE CENTER	103.96	184.87	201,777.27	507.05	0.00	0.00	
GARDNERVILLE HEALTH AND REHABILITATION CENTER	116.21	198.10	134,964.50	519.99	0.00	0.00	
HIGHLAND MANOR OF FALLON	115.59	205.02	381,521.36	519.70	0.00	0.00	
THE HEIGHTS OF SUMMERLIN	115.98	191.54	459,341.10	519.70	0.00	0.00	
CARE MERIDIAN	130.21	n/a	n/a	519.70	711.20	778.40	
MANOR CARE HEALTH SERVICES - WINGFIELD HILLS	118.79	195.23	302,626.55	521.96	0.00	0.00	
MARQUIS CARE AT CENTENNIAL HILLS	124.19	218.47	673,480.21	522.41	0.00	0.00	
CANYON VISTA POST-ACUTE	122.98	207.35	237,319.26	524.29	0.00	0.00	

\*This column shows what a facility would receive as a daily rate if the supplemental payments were paid as part of the per diem rather than as monthly lump sum

### Nevada Division of Health Care Financing and Policy Out-Of-State Nursing Facility Base Rates Effective July 1, 2016

OOS Nursing Facility	Home State	Facility	Vent	Ped 1	Ped 2	BEGIN
		<b>Base Rate</b>				
HACIENDA SKILLED NURSING	Arizona	N/A	\$0.00	\$450.00	\$550.00	07/01/2016
BISHOP CARE CENTER	California	\$205.00	\$0.00	\$0.00	\$0.00	07/01/2016
CHAROLAIS (MINI-CASSIA IN BURLEY)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	07/01/2016
DESERT VIEW (SNAKE RIVER)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	07/01/2016
OAK CREEK (MTN VIEW CARE CENTER)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	07/01/2016
SAFE HAVEN (BEACON REHAB)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	07/01/2016
ST LUKES ELMORE	Idaho	\$252.00	\$0.00	\$0.00	\$0.00	07/01/2016
SHANDS JACKSONVILLE MEDICAL CENTER	Florida	\$216.00	\$0.00	\$0.00	\$0.00	07/01/2016
RANDOLPH HEALTH CARE CENTER aka ( CEDAR HILL HEALTH CARE CENTER)	Massachusetts	\$208.00	\$0.00	\$0.00	\$0.00	07/01/2016
AVALON VALLEY REHABILITATION CENTER	Utah	\$186.00	\$518.00	\$0.00	\$0.00	07/01/2016
HERITAGE HILLS HEALTH CARE CENTER	Utah	\$202.00	\$518.00	\$0.00		07/01/2016
HERITAGE PARK CARE CENTER	Utah	\$175.00	\$510.00	\$0.00	\$0.00	07/01/2016
KOLOB REGIONAL CARE & REHABILITATION CENTER	Utah	\$190.00	\$524.00	\$0.00	\$0.00	07/01/2016
MIDTOWN MANOR	Utah	\$198.00	\$506.00	\$0.00	\$0.00	07/01/2016
MILLCREEK HEALTH CENTER (NMP)	Utah	\$168.00	\$509.00	\$0.00	\$0.00	07/01/2016
MT. OLYMPUS REHABILITTION CENTER	Utah	\$209.00	\$521.00	\$0.00	\$0.00	07/01/2016
PARAMOUNT HEALTH AND REHAB (CARDIFF)	Utah	\$176.00	\$513.00	\$0.00	\$0.00	07/01/2016
ROCKY MOUNTAIN CARE CLEARFIELD	Utah	\$182.00	\$521.00	\$0.00	\$0.00	07/01/2016
ROCKY MOUNTAIN CARE COTTAGE ON VINE	Utah	\$178.00	\$521.00	\$0.00	\$0.00	07/01/2016
ROCKY MOUNTAIN CARE HUNTER HOLLOW	Utah	\$185.00	\$520.00	\$0.00	\$0.00	07/01/2016
SOUTH DAVIS COMMUNITY HOSPITAL	Utah	\$212.00	\$520.00	\$0.00	\$0.00	07/01/2016
PROVO REHAB (ROCK CANYON)	Utah	\$183.00	\$521.00	\$0.00	\$0.00	07/01/2016
RED CLIFFS HEALTH & REHABILITATION	Utah	\$189.00	\$516.00	\$0.00	\$0.00	07/01/2016
ST JOSEPH VILLA	Utah	\$189.00	\$517.00	\$0.00	\$0.00	07/01/2016
ST. GEORGE CARE CENTER (KINDRED NURSING CNTR WEST 8049)	Utah	\$171.00	\$515.00	\$0.00	\$0.00	07/01/2016

Note: This schedule reflects each facilities prior quarter home state Medicaid rate. A differentional "add-on" rate may be approved from Nevada Medicaid recipients.

#### Nevada Medicaid Calculation of Total Case Mix and Budget Neutral Adjusted Projected Payments For FY 2012

Provider Name	Jan - Mar 2016 Actual Medicaid Days*	FRV Per Diem	Operating Statewide Price	Facility Specific Direct Health Care Price	Total Case Mix Adjusted Rate	Total Case Mix Adjusted Projected Payments	Budget Adjustment Factor	Facility Medicaid Rate Effective July 1, 2016	Total Case Mix and Budget Neutral Adjusted Projected Payments	Facility Specific Direct Health Care Floor
	а	b	с	d	e = b+c+d	f = e*a	g	h = e*g	i = h*a	j
LIFE CARE CENTER OF PARADISE VALLEY	1,636	\$21.53	\$ 125.00	\$71.98	\$218.51	\$ 357,482.36	0.508339618	\$111.08	\$ 181,722.45	61.50
MISSION PINES NURSING & REHAB	12,847	\$18.82	\$ 125.00	\$80.16	\$223.98	\$ 2,877,471.06	0.508339618	\$113.86	\$ 1,462,732.54	68.49
SILVER RIDGE HEALTH CARE CENTER	7,595	\$22.44	\$ 125.00	\$96.07	\$243.51	\$ 1,849,458.45	0.508339618	\$123.79	\$ 940,153.00	82.09
CLEARVIEW HEALTH AND REHABILITATION (nka Lake Mead Hea	18,131	\$17.92	\$ 125.00	\$86.67	\$229.59	\$ 4,162,696.29	0.508339618	\$116.71	\$ 2,116,063.44	74.06
COLLEGE PARK REHABILITATION CENTER	5,644	\$19.13	\$ 125.00	\$102.66	\$246.79	\$ 1,392,882.76	0.508339618	\$125.45	\$ 708,057.49	87.72
HIGHLAND MANOR MESQUITE	3,962	\$21.99	\$ 125.00	\$66.13	\$213.12		0.508339618	\$108.34	\$ 429,232.54	56.51
TLC CARE CENTER	11,591	\$22.85	\$ 125.00	\$81.64	\$229.49	\$ 2,660,018.59	0.508339618	\$116.66	\$ 1,352,192.83	69.76
ROYAL SPRINGS HEALTHCARE AND REHAB INC.	15,086	\$21.99	\$ 125.00	\$93.56	\$240.55	\$ 3,628,937.30	0.508339618	\$122.28	\$ 1,844,732.60	79.94
NORTH LAS VEGAS CARE CENTER	13,232	\$14.37	\$ 125.00	\$83.71	\$223.08		0.508339618	\$113.40	\$ 1,500,514.12	71.52
MOUNTAIN VIEW CARE CENTER AT BOULDER CITY	6,107	\$12.05		\$81.07	\$218.12		0.508339618		\$ 677,138.28	69.27
SILVER HILLS HEALTH CARE CENTER	4,869	\$23.79	• • • • •	\$80.10	\$228.89	+ , ,	0.508339618		\$ 566,526.92	68.44
ST JOSEPH HEALTH CARE CENTER	5,041	\$12.63	\$ 125.00	\$98.82	\$236.45		0.508339618	\$120.20	\$ 605,912.59	84.44
MARQUIS CARE PLAZA REGENCY	11,520	\$22.44		\$97.42	\$244.86		0.508339618		\$ 1,433,917.89	83.24
DELMAR GARDENS OF GREEN VALLEY	13,206	\$20.18		\$73.31	\$218.49		0.508339618	\$111.07	\$ 1,466,752.43	62.64
GAYE HAVEN	1,547	\$12.05		\$66.07	\$203.12		0.508339618	\$103.25	\$ 159,733.85	56.45
LIFE CARE CENTER OF LAS VEGAS	10,567	\$27.23		\$81.86	\$234.09		0.508339618	\$119.00	\$ 1,257,443.64	69.95
TORREY PINES CARE CENTER	4,562	\$22.03		\$88.35	\$235.38		0.508339618	\$119.65	\$ 545,856.89	75.49
HORIZON HEALTH & REHABILITATION (Desert Lane Care Center)	3,341	\$19.40		\$91.21	\$235.61		0.508339618	• •	\$ 400,151.23	77.94
EL JEN MEDICAL HOSPITAL	7,756	\$14.76	\$ 125.00	\$82.93	\$222.69		0.508339618	\$113.20	\$ 877,995.87	70.86
LAS VEGAS HEALTHCARE & REHAB CENTER	3,161	\$15.82		\$91.58	\$232.40		0.508339618	\$118.14		78.25
SOUTHERN NEVADA MEDICAL & REHAB (fka VEGAS VALLEY R	1,970	\$15.66		\$101.39	\$242.05		0.508339618		\$ 242,395.90	86.64
HARMON MEDICAL AND REHABILITATION HOSPITAL	0	\$28.22		\$89.05	\$242.27		0.508339618		\$-	76.09
HIGHLAND MANOR ELKO	5,017	\$22.89		\$74.86	\$222.75 \$228.98		0.508339618		\$ 568,088.20 \$ 409,959.41	63.97
PAHRUMP HEALTH AND REHABILITATION CENTER ORMSBY POST ACUTE REHABILITATION	3,522	\$22.44 \$22.44		\$81.54 \$78.03	\$228.98 \$225.47		0.508339618	\$116.40 \$114.62	\$ 409,959.41 \$ 544,766.68	69.67 66.68
MOUNTAIN VIEW HEALTH AND REHABILITATION	4,753 10,542	\$22.44 \$14.31	\$ 125.00 \$ 125.00	\$78.03 \$81.15	\$225.47 \$220.46	\$ 1,071,658.91 \$ 2,324,089.32	0.508339618 0.508339618	\$114.62	• • • • • • •	69.34
CARSON NURSING AND REHABILITATION CENTER	2,392	\$14.31 \$12.05		\$74.78	\$220.46 \$211.83		0.508339618		\$ 1,181,426.68 \$ 257,574.34	63.90
HEARTHSTONE OF NORTHERN NEVADA	2,392 5,643	\$12.05		\$74.78 \$94.11	\$211.83 \$236.58		0.508339618		\$ 257,574.34 \$ 678,644.03	80.41
LIFE CARE CENTER OF RENO	1.836	\$17.47		\$94.11	\$230.56		0.508339618		\$ 217,984.24	76.18
REGENT CARE CENTER OF RENO	7,170	\$19.40	\$ 125.00	\$72.91	\$233.50		0.508339618	\$113.06	\$ 810,638.87	62.30
LKM - ROSEWOOD REHABILITATION	3,076	\$24.50 \$13.18		\$97.59	\$235.77		0.508339618	\$119.85	\$ 368,662.39	83.38
RENOWN SKILLED NURSING	4,015	\$12.40		\$92.29	\$229.69		0.508339618		\$ 468,793.52	78.86
MANOR CARE HEALTH SERVICES (Reno)	6,025	\$18.37	\$ 125.00	\$75.57	\$218.94	• • • • • • •	0.508339618	\$111.30	\$ 670,557.65	64.57
WHITE PINE CARE CENTER	2,494	\$12.05		\$67.46	\$204.51		0.508339618		\$ 259,277.57	57.64
GARDNERVILLE HEALTH AND REHABILITATION CENTER	1,648	\$24.99		\$78.61	\$228.60		0.508339618	\$116.21	\$ 191,508.21	67.17
HIGHLAND MANOR OF FALLON	4,266	\$24.70		\$77.69	\$227.39		0.508339618	\$115.59	\$ 493,112.68	66.38
THE HEIGHTS OF SUMMERLIN	6,079	\$24.70	\$ 125.00	\$78.45	\$228.15		0.508339618	\$115.98	\$ 705,028.34	67.03
CARE MERIDIAN	0,070	\$24.70	\$ 125.00	\$106.45	\$256.15		0.508339618	\$130.21	\$ -	90.96
MANOR CARE HEALTH SERVICES - WINGFIELD HILLS	3,959	\$26.96	• • • • •	\$81.73	\$233.69		0.508339618		\$ 470,304.99	69.84
MARQUIS CARE AT CENTENNIAL HILLS	7,143	\$27.41	\$ 125.00	\$91.89	\$244.30	\$ 1,745,034.90	0.508339618	\$124.19	\$ 887,070.37	78.52
Las Ventanas <sup>2</sup>	0									
Kindred Las Vegas Flamingo <sup>3</sup>	131				\$228.29	\$ 29,905.99			\$ 15,202.40	
Canyon Vista Post-Acute4	2,813				\$241.16				\$ 344,849.00	
	0									
Total	245,895					\$ 56,430,996			\$ 28,686,111	
Medicaid Day Weighted Rate						\$ 229.49			\$ 116.66	
Weighted Average Budget Neutral Per Diem (State Plan 4.19D p.100	d, effective 10/1/11	)				\$ 116.66	•			
Budget Adjustment Factor		,				0.508339618				
Dudget najustment i deter						0.000000010				

Count of Days is Medicaid Patient Days + Medicaid Hospice Patient Days, per discussion with HCFP June 2012.

Harmon Medical and Rehabilitation is not an active Medicaid provider.

Las Ventanas does not take Medicaid patients per HCFP. Therefore no projected days were provided to M&S.

Kindred Las Vegas Flamingo is newly licensed as a free-standing nursing facility (effective at January 1, 2016). An interim rate of \$120.28 has been set for this provider in accordance with the Nevada State Plan Attachment 4.19-D p. 7. The interim rate will be in effect for this provider until the next rebase, which is effective at July 1, 2017.

Kindred Las Vegas Flamingo is included in the calculation of the budget adjustment factor as follows: Kindred Las Vegas Flamingo's interim rate of \$120.28 was calculated using the budget adjustment factor effective at January 1, 2016. The rate of \$228.29 used in the calculation above is the provider's interim rate prior to the application of the budget adjustment factor. This rate is used to estimate payments to the provider, if no budget adjustment factor existed. Cell K46 is calculated by multiplying cell H46 by the current budget adjustment factor. This provider is included only for the purpose of calculating an accurate budget adjustment factor, since the provider's interim rate has already been established.

Canyon Vista Post-Acute is a new facility. An interim rate of \$122.98 has been set for this provider in accordance with the Nevada State Plan Attachment 4.19-D p. 7. The interim rate will be in effect for this provider until the next rebase, which is effective at July 1, 2017.

Canyon Vista Post-Acute is included in the calculation of the budget adjustment factor as follows: Canyon Vista's interim rate of \$122.98 was calculated using the budget adjustment factor effective during May 2015. The rate of \$241.16 used in the calculation above is the provider's interim rate prior to the application of the budget adjustment factor. This rate is used to estimate payments to the provider, if no budget adjustment factor. Cell K47 is calculated by multiplying cell H47 by the current budget adjustment factor. This provider is included only for the purpose of calculating an accurate budget adjustment factor, since the provider's interim rate has already been established.

Provider	Total Residents		Medicaid Residents		Medicare Residents		Other Residents	
Name	Count	СМІ	Count	CMI	Count	CMI	Count	CMI
Life Care Center of Paradise Valley	58	1.3833	17	0.9376	29	1.6403	12	1.393
Mission Pines Care Center	142	1.0470	140	1.0442	1	1.4400	1	1.040
Silver Ridge Healthcare Center	119	1.4024	71	1.2515	26	1.6508	22	1.595
Clearview Health and Rehabilitation (fka Henderson Healthc	250	1.1568	199	1.1290	30	1.4243	21	1.038
College Park Rehabilitation Center	88	1.3968	64	1.3373	13	1.5785	11	1.528
Highland Manor - Mesquite	64	0.9419	39	0.8615	6	1.4417	19	0.948
TLC Care Center	175	1.1248	136	1.0635	5	1.3460	34	1.337
Royal Springs Health Care & Rehab (fka Manor Health Care	199	1.2474	171	1.2187	11	1.5182	17	1.361
North Las Vegas Care Center	171	1.1288	153	1.0904	4	1.4225	14	1.464
Mountain View Care Center at BC	68	1.0637	52	1.0560	5	1.2740	11	1.004
Silver Hills Healthcare Center	94	1.2317	53	1.0434	19	1.4905	22	1.461
St Joseph Health Care Center	79	1.3344	60	1.2873	6	1.6033	13	1.427
The Plaza Regency at Sun Mountain	151	1.3164	121	1.2690	15	1.5340	15	1.481
Delmar Gardens of Green Valley, Inc.	171	0.9959	148	0.9549	15	1.4213	8	0.956
Gaye Haven ICF	18	0.8478	17	0.8606	0	0.0000	1	0.630
Life Care Center of Las Vegas	150	1.1109	115	1.0664	27	1.2367	8	1.326
Torrey Pines Care Center	77	1.2144	53	1.1509	17	1.4347	7	1.160
Horizon Health & Rehabilitation (fka Desert Lane Care Cent	75	1.2953	38	1.1882	2	1.3750	35	1.407
El Jen Medical Hospital	123	1.1524	101	1.0803	5	1.3820	17	1.513
Las Vegas Healthcare and Rehabilitation Center	68	1.2640	46	1.1930	21	1.3981	1	1.710
Southern Nevada Medical & Rehab (fka Vegas Valley Rehat	41	1.2595	26	1.3208	6	1.1317	9	1.167
Harmon Medical And Rehabilitation Hospital	0	0.0000	0	0.0000	0	0.0000	0	0.000
Highland Manor of Elko	99	1.0555	61	0.9752	15	1.4267	23	1.026
Evergreen @ Pahrump Health & Rehabilitation Center	48	1.1206	37	1.0622	3	1.7200	8	1.166
Evergreen at Carson City	83	1.1467	51	1.0165	25	1.4216	7	1.114
Evergreen Mountainview Carson City	123	1.0547	93	1.0571	21	1.0433	9	1.056
Carson Nursing and Rehabilitation Center	42	1.1736	22	0.9741	10	1.4760	10	1.310
Hearthstone of Northern Nevada	98	1.3192	73	1.2259	12	1.6142	13	1.570
Life Care Center of Reno	96	1.4219	14	1.1614	53	1.4289	29	1.534
Regent Care Center of Reno	117	1.0031	63	0.9498	16	1.2000	38	1.008
LKM - Rosewood Rehabilitation	66	1.3555	41	1.2712	14	1.6386	11	1.309
Renown Skilled Nursing	63	1.2660	41	1.2022	10	1.4850	12	1.30
Manor Care Health Services of Reno	126	1.1067	72	0.9844	33	1.2600	21	1.284
White Pine Care Center	35	0.9571	16	0.8788	10	1.1270	9	0.907
Evergreen Gardnerville Health and Rehab	37	1.2962	10	1.0240	15	1.4807	7	1.484
Highland Manor of Fallon	63	1.0548	46	1.0240	5	1.3980	, 12	1.48-
The Heights of Summerlin	131	1.2360	73	1.0120	22	1.4632	36	1.532
Caremeridian	29	1.3779	27	1.3867	0	0.0000	2	1.26
Manor Care Health Services - Wingfield Hills	2 <i>9</i> 94	1.2551	43	1.0647	28	1.4093	23	1.423
Marquis Care at Centennial Hills	94 96	1.2551	43 77	1.1970	28 14	1.4093	5	1.423